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1. [15%] State whether each of the following is true or false . Explain your answer.
(a) Machine languages are generally machine dependent.

(b) Timesharing truly runs several users simultaneously on a computer.

(¢) Like other high-level languages, C is generally considered to be machine

independent.
2. [8%)] Write four different C statements that each add 1 to integer variable x .

3. [17%)] Regarding the problem: Sum the odd integers between 1 and 99 using a "for"
statement. Assume the integer variables sum and count have been defined.

() [10%] Draw a flowchart to compute the problem.
(b) [7%] Write a statement or a set of statements to compute the problem.

4. [10%]Transform the following prefix expression to infix.
-*A/+BC-DEF
5. [10%)] Differentiate between a client/server model and a peer-topeer model.

6. [20%]
(a) [10%] What are SIMD and MINI architectures?
(b) [10%] What is pipelining? What factors will affect its performance?

7. [10%] What is "Internet"? What is "WWW(World Wide Web)"? What are the

differences between Java and JavaScript?

8. [10%]Convert the decimal number 17.6875 into its corresponding
(a) [5%] binary number.
(b) [5%] hexadeimal number.




